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Consider for example the entities shown below.  To define the optionality between the customer-salesperson relationship, we test the previous patterns and select the most appropriate


Each customer may be visited by one and only one salesperson

Or 


Each customer must be visited by one and only one salesperson.

We need to verify with the user which of these two statements make more sense from the business point of view.  An observant reader should realize that in using these two statements we are in essence answering two questions



Must  a customer be visited by a salesperson? Always?

Or equivalently in a negative form


Is it possible for a customer not to be visited by a salesperson?


Likewise if we follow this process to determine the optionality in the opposite direction, we are in essence asking the following questions


Must a salesperson be assigned to visit a customer?

Or equivalently in a negative form


Is it possible for a salesperson not to be assigned to a customer?

